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Model question paper 2019 — 2020 / wrg)fl aflesrrsgsrer 2019 — 2020

ugbsmb eu@liy — X STD

SCIENCE - gypflafluiso

(English & Tamil Version / gymiglevd wpmid Siflip)

Time Allowed : 15 mins + 2 /2 hrs Maximum Marks : 75
&srevb gjerey : 15 Bl b + 2 V2 wewf] CTss WS IGLesTSHET & 79
Instructions : - 1. Check the question paper for fairness of printing. If there is

any lack of fairness, inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to

draw diagrams.

plejmr - 1. omearsg alleorrésepd Flwrs 9Fal ugleurd o srersm
eTTLIN S FlLITSHGIH GETeTarTeyh. 9 FHLl Liglails
GO W (HLILIST QWM HdTHTeTlLILITETIIL LD 2 L 63Tig Wird

G\ Maldseaib.

Kindly send me your key answers to our email id - padasalai.net@gamil.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net. www.Trb Tnpsc.Com

2. Bevib (HVeVgI) HHLIL e»LOUTIENEIT 6T(LPGI6U S D (& LD
935CH Ty (HeugsN @b WL HCW LweTu®Bds CeussdT(HID.

LIL_BIS%6T auswIausm @ 6luestdlsy LiweiTL(hdhBHeLb.

Note - This question paper contains four Parts
SOOIy - @eiallerrsgrer Brerg, Lfeysemerd GameTL_g.
Part — |
L@ — |
Note: i) Answer all the questions.
ii) Choose the most suitable answer and write the code with

the corresponding answer.
GolLy: i) I WS G| AT TS EHS LD aflewL_wefldHeaLD.
ii) seyld CurTmebswrer eailswLulmear GCsibhol%HSHI

96T GDIUTL_(H L6t aflewL_ullewesru|Ld 6T(LHFI5.

1. To project the rockets which of the following principles is / are required?
a) Newton’s third law of motion

b) Newton’s law of gravitation
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c) Law of conservation of linear momentum

d) Bothaandc

rrH06sL 676 sH6ed6) allglaser LweaTuBHSSLILGSDSI.
9. Bl L esfledr cpedrmmid el

9. Blupl L eofledr Qurg Firilwsy aflg

B). CriGasT B 2_hs wrpr Gsri_Lm®

. 9| wHmID B)

2. Kilowatt hour is the unit of

a) resistivity b) conductivity
c) electrical energy d) electrical power

&1GeVreumTL_Loewf] 6T6TLIZ) 6THEWISHL I 6V,

- LElSFTH DL sTaTT - BL5GI Smedt
(3). et HH,MHM6L . LOl6BT S m 6Bt

3. element emits its radiation spontaneously
a) Ni b) Pd c) Pt d) U

STl FeNFUITS SFflwssmisemar Glauafluil(hib slper CuDHM Hevsfloid

<. Ni <. Pd @3). Pt m. U
4. Which of the following is a triatomic molecule?
a) Glucose b) Helium

c) Carbon dioxide d) Hydrogen

& LPHEITL_UDMIET 67| CLPEUSTY)]| CLPEVSHTn 1) 7
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- &EHHBHTeN <. ufedluid
(3). HTIUST DL Y Hemerv(H F. e LT e 65T

5. is an important metal to form amalgam
a) Ag b) Hg c) Mg d) Al

@) rFssHvemeu 2 (HeuTdhse0ls ChemeuliLiRIb Lpddlwiwmer 2 GeoTsLd

9. Ag <. Hg 3. Mg . Al

6. The component present in lesser amount, in a solution is called

a) Solute b) solvent c) Solution d) Colloid

(1 HOIFOIV L0l6d &HMMbS 66y ClETeRnTL In Ml6m6vT TeTH G TiD.
9. HWTGILIT (6T 9. SEWTLILITET

(3). HWTFeL FF. g LPLOLD

7. A patient with blood group ‘O’ was injured in an accident and has blood loss. In
this condition the doctor should effectivelyuse _ blood group for
transfusion.

a) ‘O’ group b) ‘AB’ group
c) ‘A’ or ‘B’ group  d) All blood group

afllug g srrewrors O @Q\rés auemasedwd FTihd 6 (HeU([HdE BS QrHs @)Ly

THUOFDGI. Gbpleweoulled Seumss __ GIss elwsou wboglerT
ClFYISHGHI6UTT

. ‘O auena o). ‘AB’ susna

@). ‘N ez ‘B’ . S|ORTEHE) T
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8. Excessive consumption of alcohol leads to
a) Loss of memory b) Cirrhosis of liver

c) state of hallucination  d) Suppression of brain function

96Ty & LOlehFWl LOGILILIPGEHSSIBTT6V 2 (h6euTeUF)

9. 6hTUS LOM ) 9. H6V0T6L FlemsH ey

@). wrwg GsrhHmib 7. apenerd QFuUT® Geome)
9. is formed during anaerobic respiration

a) Carbohydrate b) Ethyl alcohol

c) Acetyl CoA d) Pyruvate

STHMIVEVT FEUTFHSBI6HT CLPGVLD 2 _(H6UTeUF]

9. sriGurswant Gy 9. 6THBH6D B 6V M6V
3). SFL w60 GaiT 6F . e L (HSeuL

10.Casparian strips are presentinthe __~ of the root.
a) Cortex b) Pith c) Pericycle d) Endodermis
srevurfluest Ul soL_ser Goufledr g Hullsd srenriu@Ams).
9. Lmewtl 9y, Ulg ®). ufewasFleir
. 9|&5d BT

11. The soft finely stratified sedimentary rock refers to
a) shale b) petroleum c) methane

d) coal
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starliL®eug) hlullst )i LinSEled SjewwbgieTer GFmi HmILD
BTHISHBH6T YL_HIF W GCLOETENLOWTET LITEwM B (HdEHMTd @&MILILIS T @ LD.
9. Gargev 9. Gl Grmedlwiid 3). 155Ezper
. [BleV& ST
12.All files are stored in the

a) Folder b) box C) paint d) scanner

uev Cariiyser GFiléas LB @)L b

9. Cariiys CsTELliy 9. Gl g
@3). Paint . eV @H 6T
Part - Il
ugg — Il
Note :-  Answer any seven questions (Q.No : 22 is compulsory) (7x2 =14)
GOy - aewaGuenid 7 aflerTddsendsa alleoL_welldssea).

(afleorm etevor @ 22 6@ S L Twiors LIFVeTldEa D).

13. State Newton’s second law
wluyl L_esfledT @)rewrL_mid ellgluilewerr g mis.
14.What are the causes of ‘Myopia’?

SILLLUTTene GeDUTL 1gMHESTET ST TSN HH FnM)l.
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15.What is the minimum distance needed for an echo?
61516 TTedld &g ChemeuTer &HewDbHHLL Fd GlHTemeV6y 6T6IT6I ?
16. Why does the rate of a reaction increase while raising the temperature?
QeuliL Blewevsww 9P &ifdhEGh Curg aflswerullsst Gousid 9B %iMbSna). er6or?
17.Differentiate soaps and detergents
Gariiy wHm) 19 TOxewT ewL CoumiLi(Hdsid.
18. Write the dental formula of rabbit
LPpwedl&dT LI6D eumIILITL 1g 696dT 6T(LPSKHI5.
19.What is Bolting? How can it be induced artificially?
‘GUITeVIg MBI’ 6TETMT6V 6TGITEIT ! | HEWEUT 6TeleUTM| ClFUWINENSH WITSH 2a1ds &6 HeVTLD?

20. Identify the parts A,B,C,& D

Q&sr@Hsasiul_(Herer uLggleo A,B,C wpmib D oy&lw ursnigsener swL_wrerid

HTEST6YLD.
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21.How can you determine the age of fossils?
Leng o ullit) Lig eukiseaflsT STeV5ens sTeuaITm) 6wt s0min?

22.A charge of 10 coulomb flows through a bulb in 5 second. What is the current
through the bulb?
10 gaiid Wlsstemi L _1b S aflpmy CHrib sp(h Lledr aflerds et eurflwrss LTiidngi

61631160 9| H6T UG ClF6LEYILD LOl6ITERTL L GH6dT S6T6) 6T6T6HT ?

Part - Il

uggl - lll

Note . Answer any seven questions (Q.No : 32 is compulsory) (7x4 =28)

GOy semauGuienid 7 aflarTdsenda allew_wefldsayn (aflarm stewr : 32 &@E,

&L Twioms Lglevetldseayid).

23. State and prove the law of conservation of linear momentum
2 hg rmUrl-(hd CariewLuTl ewL gnn)] Hewerr GliliLildhs

24.1) Draw a ray diagram to show the image formed by a convex lens when the
object is placed between F and 2F.

ii) Define one calorie.
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i) @aN@evsite: spssraflev F ommiin 2F ysirelsemd @ @)ewL G QLimwsir
sweusHLILIHIL CuUTg) 2 HuTESLILBLD LNDLSSIDESTET ST UEDTLIL LD 616D TS.
ii) sp(p Gevri] suswIwIm).
25.1) How many electrons are passing per second in a circuit in which there is a
current of 5A?
i) Mention two cases in which there is no Doppler effect in sound
i) 5 opNwi WesrGermi L 1b Lmuyb sp(h WlesdTHMH ML sp(h ailesrmiy CBHIddlsL LITujb
6T6VG L _[TT63T&H6IT163T 6T630T6us11d5 60 6W I & 6501 35 (h) .
ii) Lrdeni ellsere) peoL_ClLp WiuITS FIen(H) GPOSMET o IS .
26. Derive the relationship between relative molecular mass and vapour density.
LI CLPEVGIn M) BlewMHGHL el L THHE @G0 2 sTar G\HTLLilewer aupall.
27.How is metal corrosion prevented?
2 Gevrs Y fTaTsems &BH\d G (pewmaHemer alleuf].
28.With a neat labelled diagram explain the structure of a neuron.
pluyrreflst SjepilieoLd 5&bs LL-SgiL e ailau.
29.a) Read the following content and answer the questions below.
Pure - bred tall Pea plants are first crossed with pure — bred dwarf pea
plants. The pea plants obtained in F1 generation are then cross — bred to produce
F2 generation of pea plant.
i) What do the plants of F1generation look like?

i) What is the ratio of tall plants to dwarf plants in F2 generation?
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iii) Which type of plants were missing in F4 generation but reappeared in F>
generation?
b) Why is the sino - atrial node called the pacemaker of heart?
9)) QEsrHssLILl L uGHeow LySg $CY QETHSSLILL L aflesTTdSEhd G
aflewL_wiefl&pHeyLb.

STw QL ewL 1 Ll L renfldF QFgwrerg g @LewL_Li Ll L Tesnild

&g w6t sevLIflesrid QFwtiLC L g). @)&6T cpsvid HewL_G% F1 (s Fhss))
STeurth sevliilerid GFinuliu’ B F2 (Grewrmib #b58)) STourBisener
2 (HeuTSHHwg.
. F1 graurmiser stoupenn @551 G)bhser?
i. F2 #hgglullev Cararmlw GbLewL LHMID GL VL& STeurniseflsr
il #B 1D sT6dT60r?
iii. sTeusuemds Hreurid F1 wewmassiiul B F2  Fhsslullsv 1erHIb
2 (Heuresrg)?
<) Qe - oy Ab@TT Bem “CLisiv Godai” eTETMI 6767 DjeDIPHSHIILIHHE N )?
30. Differentiate the following
i) Monocot root and Dicot root
if) Aerobic and Anaerobic respiration.
Coumiur® &ms.
) 2@ allsgsmeag sreur o wHmib G rmallsslmeas sreur Gou.

il) sTHMI FeurFid WHMID STHMYVVT FreuTFLD
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31.(i) What precautions can be taken for preventing heart disease?
(i) Name two maize hybrids rich in amino acid lysine.
). @sw Crriisst ssHLBoUMSHSH &BHEHSH CHEGTTERLD (LpedT6lardFildhens
BLQUIGEDEHMENE Fn )]
ii). smevdlesr OIGesrr 9flevid ClFMlbs @) et wHeTECFTer HevLiLjuili]
UGN B S 66T CILILIEHT 6T(LSIS.
32.(i) Write the features of Nuclear fission and Nuclear fusion.
(i) Calculate the pH of 0.01M HNO3?
(i). S)gmIsam Llare) wHMID aIsHsH G)ewTallsT HETHHDMET 6T(1LSHI%.

(ii). 0.01M HNO3 sewraedlssr pH waliiy sresrs.

Part - IV
uggl — IV (3x7 =21)
Note 1 - 1. Answer all the questions.

2. Each question carries seven marks.

3. Draw diagram wherever necessary.

@mliy ;- 1. |ewardg allearTdsEns @b aflewLweflssea)ib.

2. seublsurm aflerralh @b 65w F16GLIssTES6IT

3. Gaeweuwiresr @)L Bigsefled LIL 1D euenTs.
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33. (a) (i) State Boyle’s law
(ii) Explain the experiment of measuring the real and apparent expansion of a
liquid with a neat diagram.
(i) urullsv aNFedpwd gn M.
(i) Slreug st 2_aisremio Qeuri aflifley wHMID CHTHM Geuti ailflailsnesr
erallpo CoFrsemearemw Ggeafleurer LL GgIL 6T aileur.

(OR)

(b) (i) A source of sound is moving with a velocity of 50ms-! towards a stationary
listener. The listener measures the frequency of the source as 1000Hz. What will
be the apparent frequency of the source when it is moving away from the listener
after crossing him? (Velocity of sound in the medium is 330 ms-1)
(i) Calculate the velocity of a moving body of mass 5kg whose linear momentum
is 2kg ms-.
i) s 6960 cpsviomresrg) S0 el FlewaGousddlev giiley Blemsvulled 2 srem
Caslgpewr Chred basHmAmgl. CHLGHBImev 2 eyt 6l cLpsvddlesr
9 #irQeusmrentresrg 1000 Hz oy @0, oibs 6l cpevinmresg) spliley Hlemsvuilsd

2 _sirer GaLlgpeny el allevdlF GlFsve b Gumgl 2 ewrrliL@n ChrmHm

9Bl Gleuswr sresrenr? (spedluflesr FlewFGeusip 330 hall-1).
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i) 5 &.8) Blewmuysirer Qum@GerTeirPlesr ChriGasrl B 2 baib 2 &.4) el srevflev

BT BlewFCoums e 56w [B)%.
34. (a) i) Calculate the mass of 1.51x1023 molecule of H20.

ii) Calculate the moles of 46g sodium

i) Calculate the number of molecules present in the 36g water.

9 1) 1.51%102 eppevdsgnmy Biflesr (H20) plewmewwis & revsrs.

ii) 46 &) GarigwGslesr GLoT6VSHEW6TE: &T 6.

i) 36 & BileL 2_6irar cLp6VSIn M)IS6I6IT 6T630T6NTdeMBEMUT T VT .

(OR)

b) Write notes on various factors affecting solubility.

HOTSMEWSTLI LITHE G LIVCBeum) srrewflsenerts LHm! @Gulliy euenrs.
35.a) i) Why are thyroid hormones referred as personality hormones?

ii) Define triple fusion

iii) Enumerate the importance of forest.

9).1) ewgrmii(®) anTiGLoTeiTaer 6763T ‘9w DT GLoT6iTH6T 6TETM)

O|W P L1LI (63T M 63T ?

ii) ‘epallsmenra)’ — arswruim
i) sr@sefer whalwdbgieud uHD) & mis.
(OR)
b) i) List out any three parasitic adaptations of leech

ii) Natural selection is a driving force for evolution. How?

Kindly send me your key answers to our email id - padasalai.net@gamil.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net. www.Trb Tnpsc.Com

9. 1) YL ewL_ullev sTewTILI(BHID spL’ (HevoTenst] HbeueHLoLILd6T 6Tem6uGuisy)ib

CLPSIT NI W EVT 6T (LY.

ii) uflewTrgSMHETET 2_BHg) allewFwirs Gumnhensd CHiey 2 ererg). sTeueurm;?
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